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1. ÅÛé¨Ûþéù¨Û¶Ûà ©ÛäÅÛÛ¶ÛÛé …¬ÛÙ ÍÛ¾Û›ÛÈÛà, ÅÛé¨Ûþéù¨Û¶Ûà ©ÛäÅÛÛ¶Ûà ”ÛÛµÛ þæùÁõ ïõÁõÈÛÛ¶ÛÛ ÜÈÛÜÈÛµÛ Š¸ÛÛýÛÛé ˜Û˜ÛÛë.  14 
   …¬ÛÈÛÛ  
 ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé ƒ  
 (…) ÈÛÍ©Ûä ÜÈÛÜ¶ÛýÛÛé•Û …Ü½Û•Û¾Û  
 (¼Û) ÜÈÛþéùÉÛ ÈÛé¸ÛÛÁõ •Ûä¨Ûïõ  
 
2. ÅÛé¨Ûþéù¨Û¶Ûà ©ÛäÅÛÛ¾ÛÛ× …ÍÛ¾Û©ÛäÅÛÛ þæùÁõ ïõÁõÈÛÛ …×•Ûé¶Ûà ”Û˜ÛÙ –Û¤øÛ¦øÈÛÛ¶Ûà ¶ÛÛ¨ÛÛïõàýÛ …¶Ûé ÁõÛ›÷ïõÛéÌÛàýÛ ¶ÛàÜ©Û¶Ûé 

ÍÛÜÈÛÍ©ÛÛÁõ ÍÛ¾Û›ÛÈÛÛé.  14 
    …¬ÛÈÛÛ  
 (…) ”Û˜ÛÙ ºéõÁõºõÛÁõ ïõÁõÈÛÛ¶Ûà ¶ÛàÜ©Û ÍÛ¾Û›ÛÈÛÛé.  
 (¼Û) ¾Ûä×¦éøÅÛ¶ÛÛ ¾ÛÛé¦éøÅÛ¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé.  
 
3. ÜÈÛÜ¶Û¾ÛýÛ þùÁõ …×•Ûé¶ÛÛ ÍÛ¾Û”ÛÁõàþù ÉÛÜî©Û¶ÛÛ ÜÍÛ±ùÛ×©Û¶Ûà ¤øàïõÛ©¾Ûïõ ˜Û˜ÛÛÙ ïõÁõÛé.  14 
    …¬ÛÈÛÛ  
 ÍÛ¾Û›ÛÈÛÛé ƒ  
 (…) ¸ÛÜÁõÈÛ©ÛÙ¶ÛÉÛàÅÛ ÜÈÛÜ¶Û¾ÛýÛ þùÁõ¶Ûà ©ÛÁõºéõ¨Û¶Ûà þùÅÛàÅÛÛé  
 (¼Û) ÜÈÛÜ¶Û¾ÛýÛ¶Ûä× ÐüÛ›÷Áõ ¼Û›ÛÁõ …¶Ûé ÈÛÛýÛþùÛ ¼Û›ÛÁõ  
 
4. ½ÛÛÁõ©Û¶ÛÛ ÜÈÛþéùÉÛ ÈÛé¸ÛÛÁõ¶Ûà ÜþùÉÛÛ ©Û¬ÛÛ ¼Û×µÛÛÁõ¨Û¶Ûä× ÈÛ¨ÛÙ¶Û ïõÁõÛé.  14 
    …¬ÛÈÛÛ  
 ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé ƒ 
 (…) ½ÛÛÁõ©Û¶Ûà ÜÈÛþéùÉÛ ÈÛé¸ÛÛÁõ ¶ÛàÜ©Û  
 (¼Û) ½ÛÛÁõ©Û¾ÛÛ× 1991¬Ûà …¾ÛÅÛ¾ÛÛ× …ÛÈÛéÅÛ ÈÛé¸ÛÛÁõ ÍÛäµÛÛÁõÛ…Ûé¶Ûä× ¾ÛæÅýÛÛ×ïõ¶Û.  
 
5. ýÛÛé•ýÛ ÜÈÛïõÅ¸Û ¸ÛÍÛ×þù ïõÁõÛé ƒ  14 
 (1) ÜÈÛþéùÉÛà ÜÈÛÜ¶Û¾ÛýÛ þùÁõ¶Ûä× ›Ûé”Û¾Û þæùÁõ ¬ÛÛýÛ ©Ûé¶Ûé ÉÛä× ïõÐéüÈÛÛýÛ ? 
  (a) ÐéüÝ›÷•Û (b) ÍÛaøÛé 
  (c) þù”ÛÅÛ•ÛàÁõà (d) …Û¼Ûâ¤Öéø›÷ 

 (2) ¸ÛÜÁõÈÛ©ÛÙ¶ÛÉÛàÅÛ ÜÈÛÜ¶Û¾ÛýÛþùÁõ ¸Û±ùÜ©Û¾ÛÛ× ÅÛé¨Ûþéù¨Û¶Ûà ©ÛäÅÛÛ¶Ûà …ÍÛ¾Û©ÛäÅÛÛ ÍÈÛýÛ× Áõà©Ûé _______ 
¸ÛÜÁõ¼ÛÇÛé ³ùÛÁõÛ þæùÁõ ¬ÛÛýÛ ™öé.  

  (a) ÍÛÁõïõÛÁõ¶ÛÛ (b) ¾ÛÛ×•Û …¶Ûé ¸ÛäÁõÈÛ¥øÛ¶ÛÛ  
  (c) Š¸ÛÁõ¶ÛÛ ¼Û×¶Ûé (d) Š¸ÛÁõ¶ÛÛ¾ÛÛ×¬Ûà …éïõ¸Û¨Û ¶ÛÐüá  
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 (3) ¾ÛÛÉÛÙÅÛ ÅÛ¶ÛÙÁõ ÉÛÁõ©Û ¾Ûä›÷¼Û …ÈÛ¾ÛæÅýÛ¶Û ³ùÛÁõÛ þéùÉÛ¶Ûà ÅÛé¨Ûþéù¨Û¶Ûà ©ÛäÅÛÛ¾ÛÛ× ÐüïõÛÁõÛ©¾Ûïõ ¸ÛÜÁõ¨ÛÛ¾Û 
©ýÛÛÁéõ ›÷ …ÛÈÛÉÛé šýÛÛÁéõ _______ 

  (a) ex + em < 1 (b) ex + em > 1 
  (c) ex = em (d) ex + em = 1 
 (4) ÈÛÍ©Ûä ÜÈÛÜ¶ÛýÛÛé•Û …Ü½Û•Û¾Û¶Ûà Áõ›æ÷…Û©Û ïõÁõ¶ÛÛÁõ …¬ÛÙÉÛÛÍªÛà ________ ™öé.  
  (a) ¸ÛóÛé. ïéõˆ¶ÍÛ 
  (b) ¸ÛóÛé. ¾ÛÛÉÛÙÅÛ 
  (c) ¸ÛóÛé. ÍÛà¦ø¶Ûà …éÅÛéî¡öÛ×¦øÁõ  
 (5) ÜÈÛÜ¶Û¾ÛýÛþùÁõ …é …éïõ þéùÉÛ¶ÛÛ ˜ÛÅÛ¨Û¶Ûà ÜÈÛþéùÉÛà ˜ÛÅÛ¨Û¾ÛÛ× ÈýÛî©Û ¬Û©Ûà ________ ™öé.  
  (a) ¾ÛÛ×•Û (b) Ýïõ¾Û©Û 
  (c) ¸ÛäÁõÈÛ¥øÛé (d) Š¸ÛÁõ¶ÛÛ ¼ÛµÛÛ 
 (6) ”Û˜ÛÙ¶ÛÛ ÜþùÉÛÛºéõÁõ¶Ûà ¶ÛàÜ©Û ________ ¶ÛàÜ©Û ©ÛÁõàïéõ …ÛéÇ”ÛÛýÛ ™öé.  
  (a) …ÈÛ¾ÛæÅýÛ¶Û (b) ¶ÛÛ¨ÛÛïõàýÛ 
  (c) ÁõÛ›÷ïõÛéÌÛàýÛ (d) (a) …¶Ûé (b) 
 (7) ÐüÛ›÷Áõ ¼Û›ÛÁõ¾ÛÛ× ÜÈÛþéùÉÛà ˜ÛÅÛ¨Û¶Ûà ˜ÛæïõÈÛ¨Ûà ÍÛÛ¾ÛÛ¶ýÛ Áõà©Ûé ________ ïõÁõÈÛà ¸Û¦éø ™öé.  
  (a) 3 ÜþùÈÛÍÛ¾ÛÛ×  (b) 10 ÜþùÈÛÍÛ¾ÛÛ× 
  (c) 2 ÜþùÈÛÍÛ¾ÛÛ× (d) 1 ¾ÛÜÐü¶ÛÛé  
 (8) ÅÛé¨Ûþéù¨Û¶Ûà ©ÛäÅÛÛ¶ÛÛ ˜ÛÛÅÛä ”ÛÛ©ÛÛ¾ÛÛ× ÍÛ¾ÛÛÈÛéÉÛ ¬ÛÛýÛ ™öé.  
  (a) ¾ÛÛªÛ ´ùÉýÛ …¶Ûé …´ùÉýÛ ÈÛÍ©Ûä (b) ¾ÛÛªÛ …éïõ ©ÛÁõºõà ÍÛÛéþùÛ…Ûé. 
  (c) (a) …¶Ûé (b) ¼Û×¶Ûé (d) (a) …¶Ûé (b) …éïõ¸Û¨Û ¶ÛÐüá 
 (9) ÅÛé¨Ûþéù¨Û¶Ûà ©ÛäÅÛÛ¶Ûà ¾ÛæÇ½Ûæ©Û …ÍÛ¾Û©ÛäÅÛÛ …¬ÛÛÙ©ÛÕ ________  
  (a) ÈÛé¸ÛÛÁõ¾ÛÛ× ïõÛ¾Û˜ÛÅÛÛŠ ºéõÁõºõÛÁõ 
  (b) ÅÛé¨Ûþéù¨Û¶Ûà ©ÛäÅÛÛ¾ÛÛ× ïõÛýÛ¾Ûà …¶Ûé ÅÛÛ×¼ÛÛ•ÛÛÇÛ¶Ûà …ÍÛ¾Û©ÛäÅÛÛ 
  (c) (a) …¶Ûé (b) ¼Û×¶Ûé 
  (d) Š¸ÛÁõ¶ÛÛ¾ÛÛ×¬Ûà …éïõ¸Û¨Û ¶ÛÐüá  
 (10) …éïõ ›÷ ÍÛ¾ÛýÛé ïõÛéˆ …éïõ ÈÛÍ©Ûä¶Ûà Ýïõ¾Û©Û ›ä÷þùÛ× ›ä÷þùÛ× Í¬ÛÇÛé…é ›ä÷þùà ›ä÷þùà ÐüÛéýÛ ©ýÛÛÁéõ ÈÛÍ©Ûä¶Ûé ÍÛÍ©ÛÛ 

¼Û›ÛÁõ¾ÛÛ×¬Ûà ”ÛÁõàþùà¶Ûé ¾ÛÛê–ÛÛ ¼Û›ÛÁõ¾ÛÛ× ÈÛé˜ÛÈÛÛ¶ÛÛ ïõÛýÛÙ¶Ûé ________ ïõÐéü ™öé.  
  (a) ÈÛÛýÛþùÛ ¼Û›ÛÁõ  (b) …ÛÜ¼ÛÙ¤Öéø›÷ 
  (c) ÐéüÝ›÷•Û  (d) ÐüÛ›÷Áõ ¼Û›ÛÁõ  
 (11) ïõÛéˆ¸Û¨Û ÜÈÛþéùÉÛ ÈýÛÛ¸ÛÛÁõ¶Ûä× ¼Û×µÛÛÁõ¨Û þéùÉÛ¶Ûà ________ ¼Û×µÛÛÁõ¨Û þùÉÛÛÙÈÛé ™öé.  
  (a) …ÛýÛÛ©Û-Ü¶ÛïõÛÍÛ¶Ûä× (b) ´ùÉýÛ Ü¶ÛïõÛÍÛÛé¶Ûä× 
  (c) …´ùÉýÛ Ü¶ÛïõÛÍÛÛé¶Ûä× (d) ÍÛéÈÛÛ…Ûé¶Ûä×  
 (12) Ü³ù©ÛàýÛ ¸Û×˜ÛÈÛÌÛâýÛ ýÛÛé›÷¶ÛÛ ________ ¸ÛÁõ …ÛµÛÛÜÁõ©Û Ðü©Ûà.  
  (a) ïéõˆ¶ÍÛ¶ÛÛ ¾ÛÛé¦øÅÛ (b) ¾ÛÐüÛÅÛ¶ÛÛé¼ÛàÍÛ ¾ÛÛé¦øÅÛ  
  (c) ¾ÛÛÉÛÙÅÛ¶ÛÛ ¾ÛÛé¦øÅÛ  (d) ÜÐüîÍÛ¶ÛÛ ¾ÛÛé¦øÅÛ  
 (13) ÍÛ•ÛÈÛ¦ø©ÛÛ ¾ÛÛ¤éø þéùÉÛ¶Ûà …ÛýÛÛ©ÛÛé¶Ûé ________ ½ÛÛ•Û¾ÛÛ× ÈÛÐêü˜ÛÈÛÛ¾ÛÛ× …ÛÈÛé ™öé. 
  (a) …éïõ  (b) ¼Ûé 
  (c) ªÛ¨Û (d) ˜ÛÛÁõ 
 (14) ‘OPEC’ ¶Ûä× ¸ÛäÄ×õ ¶ÛÛ¾Û ________  
  (a) ¸Ûé¤ÖøÛéÜÅÛýÛ¾Û Ü¶ÛïõÛÍÛ ïõÁõ©ÛÛ× þéùÉÛÛé¶Ûà ÍÛ×Í¬ÛÛ 
  (b) …ÛéˆÅÛ …¶Ûé ¸Ûé¤ÖøÛéÅÛ Ü¶ÛïõÛÍÛ ïõÁõ©ÛÛ× þéùÉÛÛé  
  (c) …ÛéˆÅÛ …¶Ûé ¸Ûé¤ÖøÛéÅÛ ÜÈÛÜ¶Û¾ÛýÛ ïõÁõ©ÛÛ× þéùÉÛÛé  
  (d) …ÛéˆÅÛ …¶Ûé ¸Ûé¤ÖøÛéÅÛ Ü¶ÛïõÛÍÛ ïõÁõ©Ûà ïõÜ¾Û¤øà 

_____________ 
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1. Explain the meaning of balance of payments and describe various remedies for the 

removal of deficit in BOP.  14 
OR 

 Write short notes : 
 (a) The Absorption Approach 
 (b) Foreign trade multiplier 
 
2. Explain in detail the expenditure reducing monetary and fiscal policy in order to affect 

its BOP disequilibrium.   14 
OR 

 (a) Explain expenditure switching policy. 
 (b) Discuss the “Mundellian Model”. 
 
3. Discuss critically the purchasing power parity theory of exchange rate determination. 14 

OR 
 Explain : 
 (a) Arguments in favour of flexible exchange rates 
 (b) Spot and Forward exchange markets. 
 
4. Describe the direction and composition of foreign trade in India. 14 

OR 
 Write short notes : 
 (a) Foreign trade policy of India. 
 (b) Evaluation of trade reforms since 1991 in India. 
 
5. Choose the correct option :  14 
 (1) The covering of foreign exchange risk is called ________. 
  (a) hedging (b) speculation 
  (c) intervention (d) arbitrage 
 (2) Under flexible exchange rates, the disequilibrium in the BOP is automatically 

solved by the forces of ________. 
  (a) Government (b) Demand and Supply 
  (c) Both of these (d) None of these 
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 (3) According to Marshall-Lerner condition devaluation will improve the country’s 
balance of payments if ________. 

  (a) ex + em < 1 (b) ex + em > 1 
  (c) ex = em  (d) ex + em = 1 
 (4) The Absorption Approach was developed by ________. 
  (a) Prof. Keynes  
  (b) Prof. Marshall 
  (c) Prof. Sydney Alexander  
 (5) Exchange rate is the ________ of one currency in terms of another currency. 
  (a) demand (b) price 
  (c) supply (d) All of these 
 (6) Expenditure switching policies refer to ________ policy. 
  (a) devaluation (b) monetary 
  (c) fiscal (d) (a) & (b) 
 (7) In the spot market, the delivery of the foreign exchange has to be made usually 

within ________. 
  (a) three days (b) 10 days 
  (c) 2 days (d) 1 month 
 (8) The current account of BOP consists of ________. 
  (a) trade of goods and services only (b) unilateral transfers only 
  (c) both (a) and (b) (d) neither (a) & (b) 
 (9) Fundamental disequilibrium in BOP refers to ________. 
  (a) random variation in trade  
  (b) persistent and long BOP disequilibrium 
  (c) both (a) & (b) 
  (d) None of the above 
 (10) ________ means the simultaneous buying and selling of a foreign currency in two 

markets in order to profit from the exchange rate difference between the markets. 
  (a) Forward market (b) Arbitrage 
  (c) Hedging (d) Spot market 
 (11) Composition of foreign trade of any country implies the composition of ________. 
  (a) exports and imports (b) visible exports 
  (c) invisible exports (d) services 
 (12) The Second Five Year Plan was based on ________. 
  (a) Keynesian Model (b) Mahalnobis Model 
  (c) Marshallian Model (d) Hicksian Model 
 (13) For convenience, imports of the country have been divided into ________ broad 

groups. 
  (a) one (b) two 
  (c) three (d) four 
 (14) The full form of “OPEC” is ________. 
  (a) Organisation of Petroleum Exporting Countries 
  (b) Oil and Petrol Exporting Countries 
  (c) Oil and Petrol Exchanging Countries 
  (d) Oil and Petrol Exporting Committee 

________ 
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